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QUESTION 1

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point. 

Hot Area: 

Hot Area: 

Correct Answer: 
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QUESTION 2

In this XHTML code sample, what will cause an error? 

A. The line break tag is incorrectly formatted. 

B. The HTML tags do not read XHTML. 

C. The body tag is missing a background attribute, 

D. All tags are not in uppercase. 

Correct Answer: A 

In XHTML, the
 tag must be properly closed, like this:
. 

 

QUESTION 3

What are two advantages of normalization in a database? (Choose two.) 
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A. reduces schema limitations 

B. minimizes impact of data corruption 

C. decreases space used on disk 

D. prevents data inconsistencies 

Correct Answer: AB 

 

QUESTION 4

Simulating the final design of an application in order to ensure that the development is progressing as expected is
referred to as: 

A. Software testing 

B. Prototyping 

C. Flowcharting 

D. Analyzing requirements 

Correct Answer: A 

 

QUESTION 5

Which type of application has the following characteristics when it is installed? 

Runs continuously in the background by default when the startup type is set to automatic 

Presents no user interface 

A. 

Windows Service 

B. 

Windows Forms 

C. 

Console-based 

D. 

Batch file 

Correct Answer: A 

A Windows service runs in the background and has no interface. 
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